Name

ORDER OF OPERATIONS .

OF:44
Example 1: (15+1% x(—%>+% Example2: (2.9-1.8)°x1.2+3.08
_ 2
_ogxA.,7 =1.1*x1.2+3.08
9 2
, =1.21x%x1.2+3.08
=4ty = 1.452 + 3.08
15 1 _
=3 or72 4,532
Solve each expression.
1) 193+4x(17.8-15.2)+2° 2) 6.9°+8.1+(89-6.2)
3 1V /1 .4 1V, (7 _18
0 —3+(3)-G+3) 9 (3)+(5%)
5 (513-15x%x7.2)+1.7? 6) (11.2—1.97°+(-3.1)
1716\ 5 _ (6Y L7\, g2 (4,15
7) (7 7>><2 (7) 8) (7.8)+3 <5><4>
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Name

®

ORDER OF OPERATIONS .
Answer key OF:44
2 X
Example 1: (15+1% x(—%) +% Example2: (2.9-1.8)°x1.2+3.08
_ 2
_gx4 .7 =1.1*x1.2+3.08
9 2
. =1.21x1.2+3.08
=4ty —1.452+3.08
15 1 _
=3 or 72 4,532
Solve each expression.
1) 193+4x(17.8-15.2)+2° 2) 6.9°+8.1+(89-6.2)
20.6 50.61
3 1V /1 .4 1V, (7 _18
0 —3+(3)-G+3) 9 (3)+(5%)
1 11
54 25
5 (5.13-15%x7.2)+1.7? 6) (11.2-1.97=(-3.1)
-2.78 -27.9
1716\ 5 _ (6Y L7\, g2 (4,15
7) (7 7>><2 (7) 8) (7.8)+3 <5><4>
22
49 10
O,
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